b
=
i

ik

B EESREFNATyM VB E T E R

128 18 2A
B | 1% FE % B | TE FE s B | 7E FE s
11£ EERAD 1] A |x8 +2 11K WERTR s F—F—FE
2| x 2 |k #*2 2 | £ WER *EE
3 | B |fEspam 3|k AM 3| B hELE
41A 4 | K [marFE BEHEPM | EHEBASK 418 BB hEE mERANG
5| Xk |xkER 5% AM 518 7+
6 | K |#mxEE 6| L PM 6 | X WER Rl
7| K |mxRER 7 | B |23thgaK #AB [Ra=1: 7|k MRk hELE
8 | & | i en 13:00~ &L 8 | A |sAnE FAE | TRIHLENET 8 |XK R 5 Mo—F—F
9 | £ |B3Eessims 12:00~ 9 | kgt *2 9% MRk B
10| B B KN~ HERAM 10| K BERE *HEE 0] = TERRE BAI#E
11| A A2 1K BER% st F—F—F% 11| B |2EZ&08 TERAE AATIE
12| X [RSHFR0N2) Ve s 12] & BERE B 12| A (k8 +2
13| 7K | L#RsgansEE2n0) ERE KEE 13| £ [K¥AS#ET R AM HEE 13 K MER%R R
14| K |EHEEHENQ *2 14| B | XZAZHETR 18 o[y aEHE 14| K WER RELE
15| & | L#igensEE6n0) ERE HEE 15| B [#E7RrEERAO) 7+ 15 K MR st F—F—F%
16| £ I~ RS xumzfri—r18FE | 16| K WER HiE5 16| & e KELE
17| B [esaT-v A%t |BH@mE£A 17 7k V&30 B 17 = A B
18| B (A&~ *2 18| K WER 5t F—F—FE 18| B BB {E3=4: AERANL
19] X |A #® HELE KA —F—FE1330~ 19| £ MER% 3= 19| A 7+
20| K [AxEs IR hELE 20| = a hELE 20 | X |AmRTE & &30 Rl
21| K |AmtEss #®¥ HELE KM —F—FE1330~ 21| B A HIFE-HF  [ToFR B 21| K |ZHtE * MRk HEE
2| & |A FIES HEE 22| A 7+ 22 | K |ZaE * BERE st F—F—FE
23| = RIE D12 5—DvF 23| K& MRk Bl 23| & |Re#4£A 7+
24| B RiE 24| 7k MRk 3= 24 £ 7+
25| B |eetmsomtmses XTE 25| K | AEaTR =R +2 25| B *2
26 | & [#3thgam RIE 26 | & |HtERik + *2 26| A |mRBE* *2
27| Kk RIE 27 | & |k * RE 27| K *2
28| K |mrFR RE 28| B RE 28| & *2
29| & RIE 29| A 7+ 291 K *27
30| PMEEHE P NGIEET 30| & e HiES
31| A *2 31| K WER HEE




